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#8 27| BI|HIET 0.3~1m OfLY 29 10.14 40 405.60 400.23 1.0 300 0.0045
#9 S| BI|HIET 0.3~1m OJLY 29 10.16 40 406.40 401.02 10.5 300 0.0043
SYTIHET ooty 2I|HE oly
@point #10 2917] B7|HZ T 0.3~1m O|Lf 31 10.22 40 408.80 400.73 1.5 300 0.0047
#11 S| BI|HIET 0.3~1m OJLY 31 10.24 40 409.60 401.52 10.5 300 0.0043
#12 S| BI|HIET 0.3~1m OJLY 32 10.25 40 410.00 400.59 1.0 300 0.0045
#13 S| BI|HIET 0.3~1m OJLY 32 10.24 40 409.60 400.20 10.0 300 0.0041
#14 S| BI|HIET 0.3~1m OJLY 32 10.26 40 410.40 400.98 1.5 300 0.0047
PETETTES
H (‘f%f? #15 H7|SYETREEH 1m oL 27 10.11 40 404.40 401.70 10.0 300 0.0041
poin
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i O A o 2F X .|
sg | M= =3 9 syAzyg) | SRS | RE | S¥sE |2
H =2 (t/min) ® (PH/mm?) [ of&
21 . - § - 1.9099 -
SAIE
2 . - § - 1.2733 -
id O A o 2F X .|
gr | 42| sman | smupe | 3ETH| RE | SusE A4
H 2 (t/min) @ (PH/mr) | OfE
#1 Lt Hpst 730 ~ 1130 10.11 2418.28 0.0003 oot
#2 = dpgt 735  ~ 1135 10.08 2411.11 0.0003 ojat
2R EA A
(4point)
#3 2 st 740  ~  11:40 10.10 2415.89 0.0003 ojat
#4 A HrsE 745  ~ 1145 10.12 2420.68 0.0002 oot
O|AH M H| oI
was ,| BT #5 oIp2 EE Imoll| 750 ~ 830 10.07 401.45 0.0041 oj ot
(Lpoint)
#6 g7 @7 ET 03~moiyf 755 ~ 835 10.13 403.84 0.0047 ojot
#7 sor7| 27 zT 03~moiyf 810  ~ 850 10.16 403.69 0.0043 oj ot
Soy|H=
= ',Hg:rl #8 sor7| 27 ET 03~moiyf 840  ~  9:20 10.15 400.62 0.0043 ojot
(S5point)
#9 sor7| @7 ET 03~moiyf 9:00  ~ 940 10.17 401.41 0.0045 ojot
#10  |sw7 &7z oz-moy 930 ~  10:10 10.23 401.12 0.0045 ojot
H7|2HE
i7l=2sT #11 910 ~ 950 10.28 403.08 0.0041 o|ot
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<sampling-#2>

<sampling-#3>

<sampling-#4>

<sampling-#5>

<sampling-#7>

<sampling-#9>

%
e
Ok

M SR SLAA
Y7 HiEg+ XN Ho|E gt AE HEse 200 ol
0.0002 ~ 0.00477lj/in'2 SYE[AH ZF MHHEH 7T AT LY A[AH
M 38T (AR EFH O MEHHIESE7[F)Q 0.0170/ar 0|2 = =7 HItE ALt

T HAE Y Jtset fX1EAM XY, fldas Y XE,




ECO o M aZ oA 72

E™HUE: MudAsH
Z - A 2016-08-01
o 2| 7| 2 DHH M 75| AL
247 & Foll 2 HetA AT
RS S Mefdz gt T2 Eoi2|2 117 TEXX2Se i
AledE eEMEE
=2 X AA M ol MAH|Ql 7 S| &+ H7|2HHET = A 8 ES 01357.1, ES02303.1
Al2 3 #1 ~ #4 #5 #6 ~ #10 #11 g gl 2: Walton Beckett 22{E| 2
= " A2 07:30 ~ 11:45 07:50 ~ 08:30 07:55 ~ 10:10 09:10 ~ 09:50 & ool & 2| AbAH3 0| A (BA 310)i
ANEHF Y 2016.08.01 2016.08.01 2016.08.01 2016.08.01 W-B Z2HE| 22| H X : 0.00785mm?
o7l (L) 2,416.49 401.45 402.14 403.08 SEA B F M : 385mm”’
LEX|E(mm): 25 25 25 25 2 AR Y AN -3 @@
2 4 o R 2016.08.01 2016.08.01 2016.08.01 2016.08.01
AR 24 23
A 5 75 ER7Y E78-1 o7
£ F NEws S EE 2 5t A &3 Al ZHE h ® Al o PH/mme
g 5 | 2 £(¢) (¢/min) £ 3 Al ZHR) ) 1B prps | ok /
-1 - - - - - - 1.5 100 1.9099
BAR
-2 - - - - - - 1.0 100 1.2733
- yars ERY 71 o7 53sE
2 AlREHS 5% x| 2 Z(T . Z M Al ZHE Al o0 neo
2 | 28 539 () (¢/min) £ H Al ZHR) (n 1B prpd | ok H/ar)
#1 o uret 26 10.11 240 2,426.40 2,418.28 1.5 100 0.0003
==-313
XA #2 T 26 10.08 240 2,419.20 2,411.11 1.5 100 0.0003
(4point) = e
#3 B 26 10.10 240 2,424.00 2,415.89 1.5 100 0.0003
#4 A grs 26 10.12 240 2,428.80 2,420.68 1.0 100 0.0002
O|Af A H| O
Add ,‘ N #5 o1z 2E 1m oY 26 10.07 40 402.80 401.45 10.0 300 0.0041
(1point)
#6 2917] B7|HZ T 0.3~1m O|Lf 26 10.13 40 405.20 403.84 1.5 300 0.0047
#7 2917] B7|HZ T 0.3~1m O|Lf 27 10.16 40 406.40 403.69 10.5 300 0.0043
e orl 2ol
Spoint #8 2917] B7|HZ T 0.3~1m O|Lf 29 10.15 40 406.00 400.62 10.5 300 0.0043
#9 2917] B7|HZ T 0.3~1m O|Lf 29 10.17 40 406.80 401.41 11.0 300 0.0045
#10 2917] B7|HZ T 0.3~1m O|Lf 31 10.23 40 409.20 401.12 11.0 300 0.0045
FEETEE e
poin) #11 H 7| 2SS TR EE 1m oL 31 10.28 40 411.20 403.08 10.0 300 0.0041
*APAZ Foio] Mulul &5 7| = (MU HalY A HIBAGE Feie| Muu|E8&E7|F) : 0.0170/cc
¥ o BAMZADNE gl 251 TSI ALEE0{AM & eHE L
* 2 ARE EEo 280| glg Al 2ot 2E # 302 Fof HIIME Euch
el MR MHOo| =o{UX| ph2 EMe| A2 o E Aol ™ K| gfon], RE SALE FEHCH




